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53.5| 4.5 | 12.0|53.5| 25 | 169
455| 4.5 |15.0|45.1| 20 | 163 P
57.0| 4.5 | 8.0 |39.2| 40 | 142
505|4.5|8.0| 44 | 40 | 158
51.0| 4.5 |12.0|41.1| 25 | 172
53.5| 4.5 |12.0|41.6| 25 | 172
-2 55.0| 4.5 | 12.0|44.5| 20 | 174
1 2 52.0| 4.5 |10.0|38.5| 25 | 148
@ @ 52.0| 4.5 |10.0|42.4| 25 | 151
55.0| 4.5 | 10.0|44.6| 25 | 160
o X B ) 53.5| 4.5 | 12.0|45.2| 20 | 162
50.7| 4.0 |65+ 5| w/p | 20 | 175
a B 50.7| 4.0 |65+ 5| 30.4] 20 | 175
0 50.7| 4.0 |65+ 5| s/m | 20 | 175
50.7| 4.0 |65+ 5| 45.7| 20 | 175
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